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1. (c) As, (13 – 2)3 = 1331
Similarly, (17 – 2)3 = 3375

2. (a)

7,   16,   41, 94, 251, 568

+9 +25 +53 +157 +317

9×3–2 25×2+3 53×3–2 157×2+3

3. (a) As,

J H P XS T

–2

–3

+4

Similarly,

P N T NW J

–2

–3

+4

4. (b) 16 – 18 × 216 ÷ 432 + 40 = 20
Interchanging × and ÷,
16 – 18 ÷ 216 × 432 + 40 = 20

16 – 
18

216
 × 432 + 40 = 20

16 – 36 + 40 = 20
56 – 36 = 20
20 = 20

5. (c) (45 D 9) B 5 A 8 B (7 A 3 C 6)
C (28 D (4 D 4))
Putting the signs,
(45 ÷ 9) × 5 + 8 × (7 + 3 – 6) –
(28 ÷ (4 ÷ 4))
= 5 × 5 + 8 × 4 – 28
= 25 + 32 – 28
= 57 – 28 = 29

6. (a)
7. (a) 1. Serenity, 4. Sericulture, 5.

Serotonin, 2. Serpent, 3.
Serviceable

8. (d)
9. (d) As,

  

T  U  L  I  P  S G  F  O  R  K  H

Reverse

Similarly,

  
G  A  R  D  E  N T  Z  I  W  V  M

Reverse
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10. (d)
11. (b) As,

  

G A N G A 21 3 42 21 3

7×3

1×3

14×3

7×3

1×3

And,

  

K O S H I 33 45 57 24 27

11×3

15×3

19×3

8×3

9×3

Similarly,

   

G O M T I 21 45 39 60 27

7×3

15×3

13×3

20×3

9×3

12. (c)
13. (c) From 1st and  3rd dice we have,

2 
3 – 1

5 – 6 
14. (c) In the first column,

13 × (16  4) = 52
In the second column,
15 × (24  4) = 90
In the first column,
23 × (36  4) = 207

15. (d) Let two numbers be x and y.
ATQ,

x + y = 6        .......(i)

x – y = 5        .......(ii)

2x = 11

11
x

2
=

Putting the value of x in equation (i),

11
y 6

2
+ =

11 1
y 6

2 2
= - =

\ Required ratio = 
11 1

: 11:1
2 2

=

16. (c)

 

M

J

R
–

+

K

C
–

+

Hence, J is the father of R.
17. (b)

18. (3) $ 
@ – &

% – # 
19. (c)

  are you ready 5 4 1

we are going 2 6 1

she is ready 4 9 8

Hence, 'you' is coded as 5.
20. (c)

1   1   2   2   6  10 42 1010  1806

(1+1 )
2

(2+2 )
2 (6+6 )2

(42+42 )2

1 +13

2 +2
3

10 +103

21. (b)

Peelers 

Funnels 

Spatulas

I.  False II. True
Hence, only conclusion II
follows.

22. (b)

    E NF U DI

+1 +3 +5 +7 +9

23. (b)E V A F
+5 +5Reverse

          C X B H
+4 +6Reverse

     K P U Z
+5 +5Reverse

     T G L Q
+5 +5Reverse

24. (c) C Z W T Q–3 –3 –3 –3

A E I M Q+4 +4 +4 +4

L G B W R–5 –5 –5 –5

I O U A G+6 +6 +6 +6

25. (a) D  G  E  F

A  C  B  H
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B-GENERAL AWARENESS
26. (c)
27. (d) It was founded by Mahatma

Gandhi in the year 1932. It
was established in Delhi. It
is also known as All India
Anti-Untouchability League.
The main objective of the
association was to combat

untouchability./bldh LFkkiuk
egkRek xka/h us o"kZ 1932 esa dh FkhA
bldh LFkkiuk fnYyh esa gqbZ FkhA bls
vf[ky Hkkjrh; vLi`';rk fojks/h yhx
ds uke ls Hkh tkuk tkrk gSA la?k dk
eq[; mn~ns'; vLi`";rk dk eqdkcyk
djuk FkkA

28. (b) The term was coined by
Professor Rajkrishna in the
year 1978. During this period
the average GDP growth was
around 3.5% while the per
capita income grew at a

meagre 1.3%./;g 'kCn izksiQslj
jktÑ".k }kjk o"kZ 1978 esa x<+k x;k FkkA
bl vof/ ds nkSjku ldy ?kjsyw mRikn
dh vkSlr òf¼ yxHkx 35» Fkh tcfd
izfrO;fDr vk; esa 13» dh ekewyh
o`f¼ gqbZA

29. (c) Aurangzeb did not like music,
so in 1668 he banned all forms
of music or dance in his
kingdom. Aurangzeb believed
that music and dance were
against the Islamic teachings

he followed./vkSjaxtsc dks laxhr ilan
ugha Fkk] blfy, 1668 esa mlus vius
jkT; esa lHkh izdkj ds laxhr ;k ùR; ij
izfrca/ yxk fn;kA vkSjaxtsc dk ekuuk
Fkk fd laxhr vkSj ùR; bLykeh f'k{kk ds
f[kykiQ gS] ftldk mlus ikyu fd;kA

30. (a)
31. (c) For a wave, the wavelength

divided by the time period

equals the wave velocity./,d
rjax ds fy,] rjaxnSè;Z dks le; vof/
ls foHkkftr djds rjax osx ds cjkcj
gksrk gSA

32. (a) It was established in 1957 as
Asia's highest honour and
premier award. This award is
given to individuals who
display exceptional spirit of
service to the people of Asia,
regardless of their

background./bls o"kZ 1957 esa
,f'k;k ds lokZsPp lEeku rFkk izeq[k
iqjLdkj ds :i esa LFkkfir fd;k x;kA
;g iqjLdkj mu O;fDr;ksa dks iznku
fd;k tkrk gS tks viuh i`"BHkwfe dh
ijokg fd;s fcuk ,f'k;k ds yksxksa dh
lsok esa vlk/kj.k Hkkouk iznf'kZr djrs
gSaA

33. (b)

34. (d)

35. (a)Black gram crop is grown to
increase the fertility of the
land. Sunai, Dhaicha, Lobia,
Moong, Cluster etc. crops are

suitable for this method./Hkwfe
dh moZjrk c<+kus ds fy, mM+n dh
iQly mxk;h tkrh gSA lubZ] <+Spk] yksfc;k]
ewax] Xokj vkfn iQlysa bl fof/ ds fy,
mi;qDr gksrh gSaA

36. (a) If we add impurities to a
solution, the boiling point of the
solution increases. This
happens because the presence
of impurities reduces the
number of water molecules
available to evaporate during

boiling./;fn ge fdlh ?kksy esa
v'kqf¼;k¡ feykrs gSa rks ?kksy dk DoFkukad
c< tkrk gSA ,slk blfy, gksrk gS D;ksafd
v'kqf¼;ksa ds mifLFkfr ls mcyus ds
nkSjku ok"ihÑr gksus ds fy, miyC/
ikuh ds v.kqvksa dh la[;k de gks tkrh
gSA

37. (c)

38. (d) If the budget is not passed by
the Lok Sabha, the Prime
Minister and his cabinet will
have to resign. Similarly, the
interim budget will also be
presented in both the houses
by the Finance Minister on
February 1, put to vote and
then sent for the President's

approval./;fn ctV yksdlHkk }kjk
ikfjr ugha gksrk gS] rks iz/kuea=kh vkSj
muds eaf=keaMy dks bLrhiQk nsuk gksxkA
blh rjg] varfje ctV Hkh 1 iQjojh
dks foÙk ea=kh }kjk nksuksa lnuksa esa is'k
fd;k tk,xk] ernku ds fy, j[kk tk,xk
vkSj fiQj jk"Vªifr dh eatwjh ds fy,
Hksatk tk,xkA

39. (c)

40. (b) It is headed by the CJI and
comprises four other senior-
most judges of the court. The
collegium system was

adopted in 1993./bldh vè;{krk
CJI djrs gSa vkSj blesa vnkyr ds pkj
vU; ofj"Bre U;k;k/h'k 'kkfey gksrs
gSaA dksysft;e O;oLFkk lu 1993 esa
viuk;k x;k FkkA

41. (a)

42. (a)

43. (d)

44. (c) Guru Nanak is the founder of
Sikhism. Guru Nanak was
born on 15 April 1469 in Rai
Bhoi Di Talwandi (present
Nankana Sahib) in Pakistan./

xq:ukud fl[k /eZ ds laLFkkid gSaA
xq: ukud dk tUe 15 vizSy 1469 dks
ikfdLrku ds jkbZ HkksbZ nh ryoaMh (orZeku
uudkuk lkfgc) esa gqvk FkkA

45. (d) Mahendragiri is the highest
peak of the Eastern Ghats.
Kanchenjunga is the third
highest mountain in the
world, located on the border
of Sikkim and Nepal.
Anaimudi is the second
highest peak in South India

after Doddabetta.

egsanzfxfj iwohZ ?kkV dh lcls Åaph pksVh
gSA

• daputaxk fo'o dk rhljk lcls Å¡pk
igkM+ gS] tks flfDde vkSj usiky dh
lhek ij fLFkr gSA

• vukbeqMh nf{k.k Hkkjr esa nksM+kosV~Vk ds
ckn nwljh lcls Å¡ph pksVh gSA

46. (c)

47. (a)

48. (b)

49. (d) Abdul Karim Khan and Abdul
Wahid Khan were the founders
of the Kirana Gharana of

Indian classical music./vCnqy
djhe [kku vkSj vCnqy okfgn [kku
Hkkjrh; 'kkL=kh; laxhr ds fdjkuk ?kjkus
ds laLFkkid FksA

50. (b)
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C - QUANTITATIVE APTITUDE
51. (a)55 = 5 × 11

Divisibility rule of 5 : If the
last digit of a number is ei-
ther 0 or 5,the number is
divisible by 5.
Divisibility rule of 11: The
difference of the sum of al-
ternate digits of a number is
either 0 or divisible by 11.
185625 = (1 + 5 + 2) – (8 + 6 + 5)
= (8) – (19)
= –11 which is divisible by

11.

52. (b) L.C.M = 1800
Let the numbers be 3x, 4x
and 5x
L.C.M (3x, 4x, 5x) = 60x
ATQ, 60x = 1800 x = 30

 Second number = 4x = 120
53. (b) As the sum doubles itself,

S.I = 2P – P = P

ATQ, S.I = 
P × R × T

100

 P = 
P × 8 × T

100

 T = 12.5 years.

54. (c) S.I = 
P×R×T

100
= 0.16P

Compound interest

= P 

2
8

1+ – P
100

 
 
 

= 1.1664 P – P = 0.1664 P
ATQ,
0.1664 P – 0.16 P = 16.80

 P = 
16.80

0.0064
= 2625

55. (a)

100       120     156        468

1 3

100 300

P B

20% 30%

56. (b) MP = ̀  2200

SP = 2200 × 
92

100
= `2024

57. (d) P : Q = 4
×10

 : 5
×10

Let,

40 : 50

44 : 60
10%

20%

16 480

1 30 × 10 0  = 300

58. (b) x + 3 (y + x – 2) – (x + y)
x + 3y + 3x – 6 – x – y

3x + 2y – 6

59. (a) k +
1

k
= 3

Cubing both sides -

k3 + 3

1

k
 = 27 – 3 × 3 = 18

60. (d) a2 + b2 + c2 – ab – bc – ca

= 
1

2
2 2 2(a – b)  + (b – c)  + ( c– a)  

= 
1

2
2 2 2(101–102) +(102–103) +(103–101)  

= 
1

2
21 1 2    =

1

2
 ×  6 = 3

61. (a)
2x

5
+

3x

10
–

3x

5
= 479


4x 3x 6x

+ –
10 10 10

 = 479


7x 6x

–
10 10

 = 479

 x = 4790

62. (c) By the help of options,
let the number be 9.
According to the question

 9 + 
1

9
3

 
  
 

=12

63. (c) Pass marks = 390 + 65
= 455
35%  455

 100%   
455

100
35

 = 1300

64. (a) Total voters are 100

100

Males(55) Femal(45)

(Illiterate
40%)22

(Literate 
60%)33 (Illiterate 

60%) 27

(Literate 
40%) 18

Required percentage

=
(33 – 27) 2

×100 = 22 %
27 9

 
 
 

65. (b)
Distance

Speed =
time

ATQ, 
D D

–
30 60

= 1


2D–D

60
= 1

 D = 60 km

66. (c) tan A = 
2.4

0.7

According to the pythogoras
theorem,
P2 + B2 = H2

(2.4)2 + (0.7)2 = H2

H2 = 6.25
H = 2.5
Now, 50 cos A + 24 cot A


0.7 0.7

50× +24×
2.5 2.4

    
    
    

=21

67. (a)
4 4

2

cos θ – sin θ

sin θ


2 2 2 2

2

(cos θ – sin θ) (cos θ + sin θ)

sin θ


2 2

2

(cos θ – sin θ) (1)

sin θ



2

2

c o s θ
– 1

s i n θ

 cot 2 θ  –1

68. (d)

45
o30

o

h

10m

In the above triangle, the angles
are 90o, 60o, 30o.
The length of the shadow is

3 × h

ATQ,h 3  = h + 10

 h = 
10

3 –1
= 5( 3 1)

69. (c) According to the question,
ROS + RPS = 180o

ROS + 25o =  180o

ROS = 180° – 25° = 155o

70. (a)From the properties of the
circle,
AL × LB = CL × LD
8 × 3 = x × 6  x = 4 cm
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71. (b)

x x

x76
o

ADB

C

According to the question,
2x = 76o

x = 38o

Now,  in triangle CBD,
BCD + CDB + CBD = 180o

BCD + 76o + CBD = 180o

CBD = 180° – 76° – 38°
CBD = 66°

72. (a)Sum of interior angles
= (n –2) × 180o

ATQ, 2700 = (n – 2) × 180
 (n – 2) = 15  n = 17

Number of diagonals

=
n(n – 3)

2
=

17(17 – 3) 17×14
 = 

2 2

= 119
73. (d) Kite shape = Shape of Rhom-

bus
Area of Rhombus

= 
1

2
(d

1
 × d

2
) = 

1

2
× 22 × 6

= 66 cm2

74. (b) Circumference of the base
of the cylinder = 28
ATQ,2r = 28

 r = 14 cm
C.S.A of cylinder =2rh
= 2 × 14 × 17 × 
= 476cm2

75. (c) ––– 20

––– 30

3

2

60
A+B

B+C

2

11

1

B's efficiency = 1 unit/day
Total work is completed in
60 days.

D-ENGLISH COMPREHENSION

76. (b) Their (mudk) is a

possessive pronoun is
used to show ownership.
The sentence refers to
something belonging to
them.

77. (a) Unkempt (fc[kjk gqvk)
means messy and untidy,
especially referring to a
person’s appearance.

up and doing (lfØ; ;k
dke esa yxs gq,) means

actively engaged.

proud and useless (?keaMh
vkSj csdkj) doesn’t relate to

being untidy.

violent and rigorous

(fgald vkSj dBksj) refers to

aggression.

78. (c) Contagion (laØe.k)
means the transmission
of a disease through
contact.

Other options:

Fatal (tkuysok) means

causing death.

Infected (laØfer)
describes someone who
has already caught a
disease.

Malleable (yphyk) means

easily shaped or
influenced.

79. (c) Quintessence (lcls vPNk
mnkgj.k) means the perfect

example or embodiment of
something.

Other options:

insignificant appearance

(egRoghu fn[kkoV) is the

opposite of what
“quintessence” means.

apparent display (lkiQ
fn[kuk) implies something

visible but not necessarily
perfect.

volatile aspect (vfLFkj pht)
means an unpredictable or
unstable characteristic.

80. (d) Put forth (lkeus j[kuk)
means to express or
propose something. While,

conceal (jksduk), means to

hide or keep something
secret.

Other options:

Stop (jksduk) means to

prevent, opposite of “put
forth.”

Against (fo:¼) is

unrelated to the meaning.

Apply (ykxw djuk) means

to put something into use

81. (d) Have a bee in your

bonnet (fdlh ckr dks ysdj
cgqr T;knk ijs'kku ;k tquwuh
gksuk) means being

obsessed with an idea or
constantly worrying about
something.

82. (d) The phrase “put on”
should be “put off.”

Put on (iguuk) is incorrect

here. The correct term

should be put off (Vkyuk),

which means to postpone.

83. (c) The correct spelling is

quarantine (i`Fkd djuk),

which refers to isolating
someone to prevent the
spread of disease.

84. (a) Judas kiss (/ks[kk nsus okyh
nksLrh ;k fo'okl?kkr) refers to

an act that appears
friendly but is actually
deceitful.

85. (d) Palpable (Li"V :i ls eglwl
gksus okyk) means

something that can be
easily perceived or
detected.

Other options:

Indistinguishable (vyx u
fd;k tk ldus okyk) means

not able to be identified
separately.

Imperceptible (vxE;)
means not easily noticed.

Insensible (csgks'k ;k
vlaosnu'khy) means without

awareness or feeling.
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86. (a) As the sentence uses the
present tense (“can
perform”), it should be “he
is old now.”

87. (d) The correct sentence
should be: “The Prime
Minister addressed

(lacksfèkr djuk) the nation

asking for the address

(irk) of the traitors.”

88. (d) The correct phrase should
be "on the basis of" instead
of "on the section".

"on the basis of" means that
the selection was made
according to a certain
criterion or standard.

89. (a) Verbatim (T;ksa dk R;ksa)
means using exactly the
same words as originally
stated.

Other options:

Duplication (udy djuk)
means copying.

Repetition (nksgjko)
means saying something
again.

Recurrence (iqujko`fÙk)
means something
happening repeatedly.

90. (d) Don't drop the catch.

“An imperative sentence
does not normally have a
subject. It is used to
express a command or
request.

“Active Voice Structure:
Subject (implied "you") +
should/should not + verb
(V1)“In instructional
sentences, the subject is
often understood as "you,"
and we give direct
commands using the
imperative mood.

91. (c) Active Voice Structure:

Why + do/does + Subject +
base verb (V

1
) + Object?

• Why + do + you (subject) +
spend (V

1
) + so much

money (object)?

Passive Voice Structure:

Why + is/are + Object +
Past Participle (V

3
) + by +

Subject?

• Why + is + so much money
(object) + spent (V

3
) + by

you (subject)?

92. (a) The correct spelling is

Aesthetic (lkSan;Z ls lacaf/r).

93. (a) Vicinity (vklikl dk {ks=k)
means a nearby area.

While Remote (nwj dk),

means far away.

Other options:

Natural (LokHkkfod) is

unrelated.

Adjacent (lVk gqvk) means

next to.

Proximity (fudVrk) means

closeness

94. (a) Roy came to the city last
week.

The correct structure for
past events uses the
simple past tense (v

2
) .

Other options:

Roy has come to the city
last week : “has come”
should not be used with a
specific time like “last
week.”

Roy come to the city last
week : “come” should be
“came.”

Roy had come to the city
last week : “had come” is
used for past perfect.

95. (d) “anything with
chemicals” means any
food item that contains
chemicals, maintains the
negative construction
properly:

Children should not be

given (ugha nsuk pkfg,) any

food that contains
chemicals.
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